EWPXZJ
the blank with the correct word:

. gl;i{alzliauld one's studies with
eriousness.
unnost(sA) persue (B) parsue
(C) pirsue (D) pursue
2. Choose the correct option (O complete the
sentence.
[ am indebted to my friend’s wise
) council
(B) councel
(C) counsil

(D) counsel

3. Choose the word that best replaces the
italicized words in the given sentence — In earlier
times, rebels were executed for killing the king.

(A) homicide (B) regicide
(C) parricide (D) fratricide

4. Choosethe word whichisnearestin meaning

to ‘Vicarious'.
(A) Vituperative
(B) Indirect
(C) Supportive
(D) Isolated
5. Choose the correctoption to frame aquestion
from the following sentence, using the appropriate
punctuation __T asked him why he wasn’tin class.
(A) Tasked him-“Why younot in class?”
(B) I asked him, “Why you are not in
class?”
(C) 1 asked him: ‘Why you are not in
class?’
(D) I asked him, “Why are you not n
class?”’
6. Identify the incorrect pair
(A) Kidney diseases — urologist
(B) Blood-related diseases—haematologist
(C) Diseases of the stomach —
gastroenterologist

(D) Various types of cancer — oncologist

7. Select theidiom that best replaces the words
in italics in the following sentence — You should
review your options carefully before you make a
decision.
(A) make hay while the sun shines
(B) sit on the fence
(C) look before you leap
(D) kill the golden goose

Addal247

8. Fillinthe blanks with the appropriate group

of words,
He has meticulous in
project ' i i =
Ject, rise to irregularities,

(A) not being; overseen; given; much
(B) not; oversaw; give; more

(C) not been; overseeing; giving; many
(D) not be; oversee; gave; much

9. Select the correct proverb to fill in the blank
in the following sentence:
[t is best not to delay since
(A) beggars can’t be choosers
(B) a stitch in time saves nine
(C) a bad workman blames his tools
(D) all’s fair in love and war

10. Read the following sentences and then select
the correct option.

(i) One should not interfere in the personal
affairs of others.

(ii) Thepersonalinthatcompany are dissatisfied
with their salaries.
(A) Only Sentence (1) is correct.
(B) Only Sentence (ii) 1s correct.
(C) Sentences (i) and (ii) are both correct.
(D) Sentences(i)and (ii) are both incorrect.

11. Choose the word that can correctly replace
both the italicized words in the following sentences.
Sentence (i) — I appreciate his exuberant nature.
Sentence (i1) — Everyone at the party was in a

festive mood.
(A) excitable (B) exorbitant
(C) exciting (D) ebullient

12. Identify the mood in the following sentence
— I would surely go there if I could.
(A) Indicative mood
(B) Interrogative mood
(C) Subjunctive mood
(D) Imperative mood

13. Choose the option that correctly changes
the following sentence into indirect speech — He
said, “T will go there tomorrow.”

(A) He said that T will go there tomorrow.

(B) Hetoldthathe shall gotheretomorrow.

(C) He said that he will go there after
today.

(D) He said that he would go there the
next day.
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14. Who is a ‘psu.rpl*mlugist"?
(A) Someone who specia
studies of voting patterns in
(B) Someone who specializes in a cert
hranch of neuropsychology.
(C) Someone who specializes in
branch of astrophysics.
(D) Someone who practises Freudian
]".‘Z}L‘ht1:]!1;1|}".‘-’-i!~'.

lizesin :alu'.iﬁliuu\
elections.
aim

q certain

15. Pick out the word that is not similar to the

others.
(A) Pond
(B) Water body
(C) Lake

2,]’.}'1 Stream

16. What kind of a person is a ‘Clairvoyant’?
(A) An astrologer
(B) An astronomer
(C) An astrophysicist
(D) An astronaut

17. Correctly change the following sentence to
the active voice, using the appropriate punctuation
— My daughter expressed her preference for
History over English.

(A) My daughter says ‘I prefer History
over English.”

(B) My daughter said, 1 prefer History
over English.”

(C) My daughter tells — ‘I prefer History
over English.’

(D) My daughter told, “I prefer History
over English.”

18. Which of the followingisan auxiliary verb?
(A) Look
(B) Can
(C) Take
(D) Do

19. Of which of the phrases below is the term
‘blog’ an abbreviation?
(A) web log
(B) web blog
(C) web blogger
(D) web blogging

iluliui‘.ﬂed word 10

pest T€P
20, Select the word that B .o centences:

' ¢
(i) The police are trying t;)
(i) Junk food may have Mg

LihL‘[TIiEHlH. B) blame

check ‘
{[?}} contain (D) incorporate

i et of
21. Fill in the blanks with the correct set

words. '
She was not interested taking _—

French, butdecided opt____German 1qstﬂad.
(A) in; up; to; for
(B) to;on; in; with
(C) on; L0; for; on
(D) for; to; ini tO

22. Fillintheblanks withthe appropriate words.
We need to this matter
thoroughly.
(A) look into; more
(B) look in; most
(C) look up; much
(D) look for; may be

23. Select the word that best replaces both the
italicized words in the sentences given below:
Sentence (i) — The management did not find hm

suitable for the job.
Sentence (ii) — He was notableto arrange all his
belongings into one suiicase.
(A) good
(B) apt
(C) fit
(D) cram

24. Choose the word which is the anonym of
‘Chide’.
(A) Scold
(B) Chastise
(C) Praise
(D) Arraign

25. Choose the word which is synonymous
with ‘Adjunct’.
(A) Admonish  (B) Additional
(C) Amorphous (D) Ambiguous

Please Turn Over
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26,

Whic : ,
it h of the following pairs comprises of

€St and the largest endocri
; ocrine gl
Uman Tespective]y? R

(A) Pituitary-thyroid
(B) Thyroid-pituitary
(C) Pineal body-ovary
(D) Pineal body-thyroid

27. Name the first newspaper in India.
(A) Parthenon
#B) Digdarshan

(C) Bengal Gazette / Hicky’s Gazette /
Hicky’s Bengal Gazette

(D) Samachar Darpan

28. The efficiency of a Carnot engine working
between 227°C and 27°C is

(A) 100%
(B) 50%
(C) 40%
(D) 20%

29. Which one of the following is not a feature
of Indian federation?

(A) There is an independent judiciary in
India.

(B) Powers have been clearly divided
between centre and states.

(C) The federating units have been given
unequal representation in the Rajya
Sabha.

(D) Itis the result of an agreement among
the federating units.

30. Which Asian country is the host of 2023
IBA Women's World Boxing Championship?

(A) Sri Lanka
(B) India
(C) Nepal
(D) Thailand

A-4
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26. TAEA FAOH 8 O SET AieEzy
e 24
(A) PHRRORI-ARAEe
(B) 4ZAEC-fARE
(C) faferare afe-foamm
(D) ffears afe-ArRaEs

27, A0S A4 AQWATI AN
(A) 2l
(B) s
L&) = (o | Blew et [ e
(% (SieEn
(D) FGF Fofet

28. 227°C g% 27°C TSR Wz e 9
A5 AHT el 27a
JA) 100%
(B) 50%
(C) 40%
(D) 20%

29. s REnefr g @Rd seey
TGN a9y 772
(A) SRS &b T SVEE & |
JB') % @ e WYy FaS! P
0 A ZR0E |
(C) srErTer TRy gasalEy afefify
S |
(D) SRR I&AB y&aR GraiHFa s
NS T |

30. afiF @W @ 2023 SiRfa, fw iz
R aferaferet smde oy
AA) Gl
(B) S99
(C) @&
D) U
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. al’)
31. Who started Faraizl movement 11 Bﬂl'lgd] :

(A) Titumir

(B) Kunwar Singh
(C) Digambar Biswas
(D) Hapn Shariyatullah

Committee of the Indian

32. The British
< started in 1889 under the

National Congress wa
chairmanship of:
(A) Dadabhai Naoroji
(B) A.O. Hume
(C) W. Digby
(D) W. Wedderburn

33. What is the aim of the ‘Jan Vishwas Bill
which was recently tabled in Lok Sabha?

(A) Anti-terrorism

(B) Ease of doing business

(C) Eradication of malnutrition

(D) Police Reforms

34. A stood 10th in the class, while B ranked 38
from the bottom. B’s result is better than A and
there are 2 students between A and B. Total number

of students are
(A) 40

~(B) 41

(C) 42

(D) 44

35. In India the centre for Coffee Research 18

(A) Munnar
(B) Kurnool
(C) Chikmagalore

| R89-4 ara Ao1ATE0d ARIE IR FAFd
e fele 2P

32,
fafo«l wfI oF 4
_¢A) Wi, (A

33.m@f\ﬁaﬁﬁﬁﬁwaﬁﬁ—p s G

fer-aa 24 Sl J?
A) SOFATH R
yw aifrena AR
() S AT
£0) =i wiEe A

Lad

34. Class-4 A rank (G2 10 @32 B (AR 38,
3 (A7 | B-49 @G AT (A Sl 32 B

WWWZWW@W1WW%{
Hitz.?

(A) 40

(B) 41

(C) 42

(D) 44

(D) Mysuru

Please Turn Over




C :
(C) remova| of Press restrictions.

{D R 3 ¥ ™
) CIE‘I'HDLIJIH_HIIUI'I of the administration
of Travancm'e State.,

3:7. The first cotton textile mill, in India was set
up in
(A) 1820
(B) 1812
(C) 1840

(D) 1818

38. Which of the following acted as President
of the Indian National Con gress for six consecutive
years”

(A) Jawaharlal Nehru
(B) Dadabhai Naoroji
(C) Abul Kalam Azad
(D) Gopal Krishna Gokhale

r

39. The ion of an element has three positive
change. Mass number of the atom is 27, and the

number of neutrons is 14. What is the number of
electrons in the ion?

(A) 13
(B) 10
(C) 14
(D) 16

40. Which state among the ‘Sixteen
Mahajanapadas’ was successful ultimately in
founding an empire?

(A) Koshala
(B) Kashi

(C) Magadha
(D) Panchala

36. SN Tz 1924 A o G Aot
e —

(A) s wTeq Reqoea e Tfitan v,
0= (Feqa T

w

(C) R T3 et s oy

(D) @rems Aes 2Mmme srelierss
@]

37. SIFTT 49% Frelem Zifere 53
AA) 1820 fa+5ir#
(B) 1812 @517z
(C) 1840 f517#
(D) 1818 f&=51=r

38. FHfERemg I (F 2999 =7 959 9oy
@T@ﬂﬁiwwmmﬂ?

(A) ©ZFe (e
B) MMISRR (Tiafes
(C) I & e
(D) oo 2e (ol

39, &@%mwww1w

SR 27 G TR AT 14 | SR 2 Zwage
TEqI 9
AA) 13
(B) 10
(©) 14
(D) 16

40. "QANYH EIAR-9F W Ry A @
ARGHAR-F (PTG IS AL S 90G €7 2
“A) (e
(B) @M
(C) Wiy
(D) it
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N;l Tlh; youngest President of the Indian
1onal Congress, who hel

S8, d that office at the «
of 35, was ik

(A) Rash Bihari Ghosh
(B) Subhas Chandra Bose

~ (C) Abul Kalam Azad
(D) Lala Lajpat Rai

42. The historical importance of the second
session of the INC held in Calcutta in 1856 was
that—

(A) There was merger between the INC
and the National Conference.

(B) It was presided over by Dadabhai
Naoroji.

(C) The great scholar Rajendralal Mitra
was the President of its local Reception
Committee.

(D) All of the above

43. Which amendment of Indian Constitution
is related to the Anti-defection law?
(A) Slst amendment
(B) 52nd amendment
(C) 53rd amendment
(D) 54th amendment

44. Which Mughal emperor was known as
Alamgir 17
(A) Akbar
(B) Jahangir
(C) Aurangzeb
(D) Bahadur Shah [l

45. The leader of the Ghadar Party in Bengal

and Orissa was
(A) Jatindranath Mukherjee

(B) Jatindranath Das

41, SEISTTRTS
ssieife ZEEl 7, f L
(A) iﬂ"ﬂﬁ‘fﬁ@ (A

42, 1886-C9 AP

SA) 5198 TR
AB) 529 FALAHH
(C) 53 T
(D) 54T% FRCAEH

45. AET g SfTHT S WA o BEW
(A) o e
_(B) TSHAL A
(C) AR A
(D) @, G, A

(C) BarindraGhush
(D) M. N. Roy
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46. 19389 & IS “AfFEAl SEMHA ofchy,
8, for drawing up wreeld i fafes, MR R fofe o
t on the basis of | TR Rrivem gt ez Ffice?

as

n?

(A) o1 5% @M
(A) Subhas Chandra Bose (B) GZde (2%
(B) Jawaharlg] Nehru (C) =Zrgl s
(C) Mahatma Gandh;j }

G S13E Sl S
(D) Maulana Abul Ka =

am Azad

47. Who was the last Sultan of Delhi?

47. Tafe Feroifia o1 Jerem & e 2

(A) Flruz-'[‘ughluq (A) WW

B) Bal ' 2

(B) a'tllfl KhﬂlllL(}dl (B) <= 4 I

(C) Ibrahim Lodi Sl @i

(D) Sikandar Lodi 1O

(D) P et
48. Which city is the Headquarter of 48. ‘BIMSTEC-97 o4l SRffem @ #3730
‘BIMSTEC’? e

(A) New Delhi AA) o fafe

(B) Colombo (B) <F=icat

(C) Dhaka (C) Il
(D) Jakarta (D) SIS

49. Which of the following factors caused the
greatest racial cleavage in India before the

49. SIS G Af v A s FaERe

. IO Je Siweiis Hewrs frer A arfE 2
foundation of the Indian National Congress? () SorlE oo ok
(A) The Ilbert Bill Controversy
(B) The reductions of age for entry to the ﬁiﬂ) fifeat Aifea 3w < < 3™
Civil Services (C) 1878-93 & Wi2w
(C) The Arms Act of 1878 (D) iz cepi g

(D) The Vernacular Press Act

S0. “Rectify” is to “Mistake” as “Regain™ is to 50. Rectify : Mistake :: Regain : ?
(A) Make AA) Make
(B) Find (B) Find
(C) Realise (C) Realise

(D) Loss (D) Loss




51. If
Hovccl thlh-:z seventh day of a month is three days
: an Friday, what day will it be on the
ineteenth day of the month?

(A) Saturday
(B) Monday
(C) Sunday
(D) Tuesday

52. Members of the Constituent Assembly were
(A) elected by Provincial Assemblies.
(B) elected directly by people.
(C) nominated by British Government.
(D) represented only by the Princely
States.
53. The perimeter of a triangle whose sides are

intheratio — ' ' = is IS
e ratic 20 13 ]21330Llﬂb.ThEleng[th

the biggest side is

(D) 7cms

54. Where was the capital of Kanishka?
(A) Purushpur
(B) Jalandhar
(C) Kashmir
(D) Pataliputra .

55. The term ‘Political Justice’ is mentioned in
the Indian Constitution under which of these.

(A) Only under the Preamble to the
Constitution of India

(B) Under both Preamble and Directive
Principles

(C) Under Fundamental Rights and
Directive Principles

(D) Under Preamble of the Constitution
and Fundamental Rights

51. = s A
5, |t:r—ﬂﬁ'ﬁ$’l“ﬁaﬂ“

JK) =

(B) A4
(C) afaard
(1) b HEIE

52, sieeifaaaa AWl
(A) 2 siEereieE b ferdioS 2|

_B) Gt FGF AGFS(S ﬁ'«f!ﬁ;': e |
(C) Faﬁ*iﬂwmzﬁﬁw%ﬁn
(D) (9 ArE e sifsfafay e |

111
53. ﬂﬁﬁ‘ﬁtﬁﬂmﬁlﬂﬁﬂﬁﬁ—z—o. el

@@ SR 30 cms | 26N AEHA 0T Z0A

]
y 7— cms
LA) 5

(B) 10 cms

1
12— cms
(C) 5

(D) 7 cms

54. sfrEa AGUR] @IAE =2
(A) 773
(B) ©eiad
(C) =+
D) A
55. IO WU (@ S AT T’
giaeilioa ©rere S 2

A) (I SIEoR AR e

(B) 2R ¢ Fuiiers Aife — Swon wept

(C) Gl wfEmR @ fiee e — Sy
NG|
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ichho
T :
the dorma Mone is reg

(B) Dormin
(©) Cytokinip
(D) Gibbereljjn

Ponsible for breaking

57. Under the ,
i _  rule of which em
University was founded? peror Nalanda

(A) Samudragup(a
(B) Chandragupta I
(C) Skandagupta

(D) Kumaragupta I

58. Which neighboring country of India has
passed its first Citizenship Amendment Bill?

(A) Bangladesh
(B) Myanmar
(C) Nepal

(D) Srilanka

59. Thetwo mainindustries in Haldia Industrial
Region—

(A) Production of batteries and ship
repairing
(B) Petroleum refinery and production of
batteries
(C) Petroleum refinery and ship repairing

(D) Petroleum refinery and Chemical
Fertilizers production

60. Between whom was the First Battle of
Panipat fought in 15267
(A) Babur and Ibrahim Lodi
(B) Babur and Rana Sanga
(C) Babur and Sher Khan
(D) Akbar and Himu

A-10

56. Wzra e ©% FF @I T 2
(A) =g
_B) w3
(C) ARGRRER
(D) fEraarafem

57. (7 FEHF e e e 2k
[
JA) TEeY
(B) e pmue
(C) F%adY
(D) &S FAALY

58. ©IEAHT (A &f ST g O FUu AT
b2 E O o | L T 3 4R

MA) T
(B) Ei==I4
(C) GA=ife
(D) Sl

59. wEal femeETa 1R 2 RE—
(A) <ioifa tefe ¢ T EemEfs
(B) <& (o= (iaiong € Fibifa tefa
(C) 4 % (o& (il € RS arfe
4P) 4 e (oa et e e Wi

60. 1526-4 22 AT T7 S TG TR0
TR |
JA) A3 6 TaifE i
(B) 3Ma< @ il 7=
(C) 2177 € (*14 4
(D) @7 ¢ 2y
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61. Where was the first Buddhist Council held?
(A) Vaisali

(B) Pataliputra

(C) Rajagriha

(D) Malava

. In the world in Postal Services India ranks
(A) Third
(B) Second
(C) First
(D) Fourth
63. Meaning of Man — Land ratio is
(A) the ratio between the total population
and the actual utilization of land in a
country.
(B) the ratio between total land and total
population of acountry.
(C) the ratio between the total plain land
and mature population of a country.

the ratio between total agricultural
land and total male population.

(D)

64. Which of the following isnota fundamental
duty under the Indian Constitution?

(A) To protect monument of national
importance

(B) To develop scientific temper

(C) To uphold unity and integrity of the
nation

(D) None of the above

s )
65..0¢ (%) =57+ + 2, then the value of

-

f(=x)1s
(A) f(x)
(B) —f(x)

e
© 15

o (2

e AT
62, Fap wtareA A OFF A

AA) TN
(B) fasm
(C) =@9d
(D) 594

63. A — S TS A

wifsrg SRS |
(B) o B & € G TRE T |

(C) mmﬁwﬁﬁe eI NS

G TS |
(D) W@ﬁ@ﬁ@ﬁﬁ%ﬁ‘ﬁﬁﬁﬁl

G T

64. s SRS c@iab SeE GG RN
G 6] w3 ?
(A) @ T eFgsd Gy T T
v(,g) e SR AR A
(C) ©raTez @) @ 7S TN & FRAF
4
(D) Toitad @b 18

65. 7 f(x)=5" +%+2 , f(=x) T 9 23

AA) f(X)
(B) —f(x)




66. Dadabhai Naoroji was elected to the British 66. TSR (TATE fatbea e ﬂ‘ﬂj Sl
House of Commons as a member of the wrerg eifefafd 2 frfifoe ZafeE™ < %
PELY. ‘ (A) FTECOS

o o
(C) Labour (el SR
- e
(D) Labour-Liberal combine (D)
: s (@ TR TF
67. Which country has awarded Ardesh_lr 67. @t T SIS 4 @ﬁgoﬁﬁiwgﬁﬁ
B.K.Dubash. the ‘Order of Merit in the Diplomatic cifat 24 9 fGorrataiHe AfSrE :
Services’? T ?
(A) Canada (A) STl
(B) France (B) A
(C) Japan (C) &=
(D) Peru (D) ¢
(%
g
68. If number of molecules present in 9g of 68. 9g G TIH T n A, 44g FITE 3
water is n. then number of molecules present in SHR0E S9F AR 2
44 g of carbon-di-oxide is (A) n
(A) n (B) 2n
2n
i © 5
© 3 (D) 3n
(D) 3n
69. In which substage of interphase is DNA 69. DNA-aZ «fasie R =3 THEEEe (@
doubled? WA 9
(A) G, JA) G,
(B) S (B) S
. (€) G ©) G
| )G (D) Gy
| 70. Who among the following has been given 70. SieR AR ANfEe Sfgwiag T4
the power by tf?e lIndian Constitution to ‘impose Feeae ARy SR FAE FTS| S 7Tl
reasonable restrictions” on the fundamental rights? TR ?
(A) President =
(B) Parliament JA) TS
(C) Supreme Court (B) TS
(D) Both (B) and (C) (C) e o
(D) (B) @22 (C) T&A®
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71. Who observed: “The Congress is in reality
a civil war without arms”?

(A) Lord Dufferin
(B) M. A. Jinnah
(C) Sir Syed Ahmad Khan
(D) Lord Curzon

72. Ocean Thermal Energy Conversion—
process was used for energy production in India in
(A) Kolkata
(B) Haldia
(C) Madras/Chennai
(D) Paradwip

73. The major percentage of Central
Government subsidy in 2023-24 is on

(A) Food

(B) Interest
(C) Fertilizer
(D) Petroleum

74. InIndiathe state with highest yield of Pulse
(Dal) per hectare
(A) Madhya Pradesh
(B) Rajasthan
(C) Gujarat
(D) Uttar Pradesh

75. In India the Food Processing Industry is
most developed in

(A) West Bengal
(B) Gujarat
(C) Andhra Pradesh

72. Ocean Therma
wfars Age BeAM 2

(D) Haryana

| Energy Conversion A

(A) FESISE

(B) =
() EicE/ (AR
(D) #Araraiet

73. 2023-24%@5@31111@"5@53 HAGE
Jre! TRH A% ICACR?

(A) 4

(B) ¥ 7

(C) AR
AD) (AT

74, TE BLAWH SIS (239 &S BLAWH FE
JA) T
(B) ATergi
(C) BHANS
AD) SeaeTm

75, O AW At Mo w1 %ﬂ‘ﬁ
AA) AN FeE
(B) uweErare
(C) St
(D) ==t




S1 IC Count :
g?ed CONOmMie C{E has_lndla recently 76. (@ g A ©19 .
SOt (BCTAy, oo andTrate: || e oot 08 e @ty
(A) Englang Terifarel gak afdfers pfE) A gy
(B) Usa (A) TS
(C) Australia B) TFA IEAE
(D) France (C) =B
(D) #FM™A

77. The word. ‘Biodiversity’ was coined by
(A) Ernst Mayr
(B) W.G. Rosen
(C) Tansley
(D) Odum

78. The Nehru Committee Report got a decent
burial at the hands of the Congress at the
session of the INC.

(A) Calcutta
(B) Madras
(C) Lahore
(D) Bombay

79. The first cotton textile mill, in India was set

up in

(A) Kolkata — Ghusuri
(B) Kolkata — Sinthimore
(C) Nagpur
(D) Thane

80. Which of the following is not regarded as

public expenditure in India?

(A) Subsidy giventolocal city bus service
(B) Defense expenditure
(C) Interest payment on national debt

(D) Investment spending by public
companies

77. ‘aEreEeI’ M 2a8 s
LA) SR
(B) 4. f&. e
(C) Bt
(D) €

78. (2F IMLA AL GOR S0z @
it @30 TogeE Fuifd 7 FrafEm
) el
(B) walE
(C) =T
(D) @EE

79. (I SRS 24N Lo e =+
JA) e, FE-e
(B) zferrera B caire
(C) =Mooz
(D) QUAE-cs

80. (AT HapIat ay zvsl sl a1 T Al
(A) 211 A sAfaze req o
(B) eifez! «ire a7
NC) I Ao 7 2
(D) FRI reenf wrat R I



81. Who wrote ‘Kumarasambhavam’’
(A) Vishnusharma
(B) Dandin
(C) Kalidasa
(D) Somedeb

82. Name the Sultan who first m'guniﬁm’l
Expfdinpn:: to conquer the Deccan.
(A) Alauddin Khalji
(B) Balban
(C) Firuz-Tughlug
(D) Md. Bin-Tughlak

83. Five boys A, B, C, D and E play a game of
cards. Each boy has 10 cards. E borre ¥s 3 cards
from A and give away 5 to C who in turn gives 4
t0 B. while B passes 2 to D. How many cards does
D have?

(A) 9

(B) 10
(C) 11
(D) 12

84. Who introduced ‘Din-i-Ilahi’?
(A) Babur
(B) Akbar
(C) Jahangir
(D) Shahjahan

85. What happens when the potassium iodide
solution is added to a solution of lead nitrate”

(A) White precipitation of lead iodide is
formed.

(B) Yellow precipitation of lead iodide is
formed.

(C) Red precipitation of lead iodide 1s
formed.

(D) Black precipitation of lead iodide is

formed.

el ?
(A) (1S (e NGz
(B) ¥4
@) frcra g

g3, AwEa aEE A, B, L L
Waﬂ@inﬁaﬁwnﬁ,sﬁasﬁa-am

cﬂrﬁwmﬂaisﬁwcwmﬁm@mﬁﬂeAﬁ
B & v B 21‘%@@{)—@5@@-@'%&&%@@

SR ?
(A) 9
(B) 10
@ 11
AD) 12

84, ‘T2 IAMR (@ 2O T2
(A) A=
B) SE<d
(C) =
(D) *E&E

8. WWWWWW
wad (Ol T & TA
(A) @G SATGRIGE AW ST Aot |
(B) (7S SRGRIGA TH WETFA |
(C) (TS SEIGIRIS FE SHETHA P
(D) TG STACRIGA FE! SLeTH= AT
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86 NIT
. ]Ar
Region pjg. 08 has
0 Distrior am > Ieleage 2
from IStrict SDG [n E:-:"L{::,r[jl:lf II:NI ki

UNDP(UnitedN
| ngrummc]
(B) World Bank
(C) Asian Develg

(D) IMF

€ Support

(A)

aliong Dwu!npmunl

Pment Bank

| 87.1 PittIsland, where recently many pilot whales
died, is located in which country?

(A) Indonesia

(B) New Zealand

(C) Japan

(D) USA

88. In India Aman rice is cultivated during

(A) sown in S. W. Monsoon season and
harvested in winter,

(B) sown in S. W. Monsoon season and
harvested at the end of the monsoon.

(C) sown in summer and harvested in the
monsoon.

(D) sown in early summer and harvested
at the end of the monsoon.

89. The rainfall type that causes most deaths on
Ladakh plateau—

(A) Frontal rain

(B) Hailstorm

(C) Cloud bursts

(D) Convectional rain

90. 1f721890denotes PARDON. 53164 denotes

MERCY, DEMOCRACY will denote

(A) 835971274
(B) 853961264
(C) 839561264
(D) 835961264

A-16

86. @@ aAfedira sy e S -
IS fifer v e zres” dom g,
[(A) TTARGE G CCTEAATTD Coppy
(FTgerf)
(B) ey 4= (fas arrs)
(C) «ffEte (CrSaAAETs A%

(D) W% @3] &7

87. 6 wiizenre, @I ArRETDIE = fiuy
(B T
(B) fAefe=ire
(C) &=
(D) W& g&41g

88. SRS TN 4 HIET A
L) FEieE i A 01 =)
(B) It stfsica <di=eiea s =51 =1
(C) A=eitet wifaem <=1 coica <t =0

(D) AR 24w e =i 3 o
PIo] 2 |

89. =ers Jreref wivm Wi T G W @
qfze—

(A) Fe 3B
B) FERR

(C) 9 orel 3B

(D) #AfwEm 3

90. T 721890 fuf =2 PARDON. 53164
feit#*l %4 MERCY $72 DEMOCRACY 3t S
FAA Y

(A) 835971274
(B) 853961264
4C) 839561264
(D) 835961264



91- SDCI{]—ECGTID‘]'I'IiL‘ [‘.]1111]1i-”:|: 1.‘ a 'i'i'rlﬂ “1.
AP °

(A) Union list
(B) State list (A) g Gkl
(C) Concurrent list ) — '-5'[?*’:"{@1

(D) Reserved list

92, A man encashes a cheque of T 6000/- from
100 rupee notes, totalling 48. The number of 200

rupee NOLES 18
(A) 20
(B) 12
(C) 36
(D) 24

93. All revenues received by the Union
direct and indirect taxes,

government by way of
ceipts from loans given by

money bhorrowed and re
the government flow into
(A) the Public Accounts of India.

(B) the C onsolidated Fund of India.
(C) the Contingency Fund of India.

(D) None of the above

94. Complete the letter series
i ¥ 'E8 g =

(A) trsr

(B) rssr

(C) rstr

(D) rtsr

rsst 5

har Tilak was given the epithel

95, Bal Gangad
Iy Respected) during

of ‘Lokmanya’ (Universa
(A) Swadeshi movement

(B) Revolutionary movement
(C) Home Rule movement
(D) His imprisonment in 1908

) 1
(D) ‘?i??[fﬁfﬁ!.a 'Z‘Jﬁ_ﬂaﬁi

92. T 6000/~ G 5%, Bank-4
Bank 200 i@t € 100 sl-a (F i (o 48 Tf
Gife oaE | 200 DIl itha AL ¥
(A) 20
BT 12
(C) 36
(D) 24

st_r_s/_3S tm? + it A~ S
(A) trsr

(B) rssr RAYT

\-(-C) rstr

(D) rtsr

95.@%%%@@@@‘@@%‘
(FEAReE FHE) Satif R A O T
(A) TR S
(B) (A ACAIT
4€) (A A
(D) 1908-4 ot PR
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€ deng;
sit
i i}f of Water gt 5o

Ca s gm

| expangiop, O Wai - Th
(A) 2« 10 o er is
(B) 6 x 10~ o
(C] 3(}[_) X 10 oC-1

(D) 4x 10~ o

Cis99g kgm-
© Coefficien of

fﬂ]'gzl‘;e—lf—":]u? Eﬁastn:‘:r11 !{imala
It cultivation of
(A) Indian Olives
(B) Oranges
(C) Lichis
(D) Mangoes

Yas of India is known

tall, others are short. B, D, E are dark, others are

fair. E, E are fat, others are thin. In the first desk,
sits a short, fair, fat girl. Who is she?

(A)

99. Parliamentary authorization is necessary
prior to expenditure from

(A) the Public Accounts of India.
(B) the Consolidated Fund of India.
(C) the Contingency Fund of India.
(D) None of the above

100. Who wrote the book ‘Amuktamalyada’?
(A) Madhabacharya
(B) Ramanuj
(C) Krishnadevaray
(D) Maladhar Basu

|

|
|
|
P

A-18

4”23. %i{:t% w1y T Ty ggsﬁ.m.m.ﬁ.%
O SR Wy 992 e /2. = w,
TG FReR elrE 20 |
(A) 2x10*°C!
(B) 6 x 10 °C1
(C) 3.00 x 107 °C!
(D) 4% 104 °C!

97. +f fEaEn Sare (1 ¥4 SIAd T g
(A) E#AE -
JB) AT
(C) i

(D) =S
98. A,B,C.D,E “vem @@l A D,E 7,
b

A1 4% | B,D,E @ A= FA | CE @,
FfEat @il 2w ARee 6, T, @h IAE
QAR 3 (7

(A) E
“B)
(€)
(D)

wl Ol Aal

99. (N SR (AT TW IFACS HHAY S oA
TS ?
A) SIS AR SIS
(B) SRTed «afae wgfds
(C) OIS IFoaCE ™ e
(D) CATAG (IAIDE 7

100. SEAT G 1 F 2
(A) WianE

(B) A
(C) FRUITH

(D) e 3



101. e of the following terms includes rest of
@S |

the lot. - lentify that single term:

<jlucocorticoids, Adrenaling,

Mjnﬂlf-'mcﬂl'llﬂﬂid.‘i. Suprarenal gland.
(A) Mineralocorticoids

(B) Adrenaline

(C) Suprarenal gland

(D) Glucocorticoids

nstruments that generate proceeds

102. Financiali
in environmentally sustainable

for investment
projects are called
(A) Green bonds
(B) Nature bonds
(C) Low Emission bonds

(D) Environment bonds

103. Which among the following country is
associated with the ‘Terminator Tank Support
System — the BMPT"?
(A) China
(B) Israel
(C) Russia
(D) USA

Newlands law of octaves,

104. According 1O
which of the following

beryllium resembles

elements”
(A) Sodium
(B) Magnesium
(C) Calcium
(D) Aluminium

105. Mahatma Gandhi presided OVer the Annual

Session of Congress only once at
(A) Kakinada, 1923
(B) Belgaum, 1925
(C) Kanpur, 1925
(D) Gauhati, 1926




106 Ch
’ 00se th
bt . 1€ Correct g
Oks, bengy); books ang n{{::ra%r 10 represen
els
(A)

107. Identify the subs
In water:
(A) Glucose
(B) Urea
(C) Acetone
(D) All of the above

tance which can dissolve

108. When is ‘International Customs Day 2023’
observed?

(A) January 25
(B) January 26
(C) January 27
(D) January 28

109. After the Surat Split in 1907, the second

split in the Congress took place in 1918 on the
issue of

(A) Lucknow Pact
(B) Montagu Declaration

(C) Election of Mrs. Annie Besant as
President of the INC (1917)

(D) Both (B) and (C) above

110. The main source of methane gas in India—
(A) Floriculture gardens
(B) Orchards
(C) Tea gardens
(D) Paddy fields

106. 3= o7 s, @b 97 e R g
CATLIE forit o212 :

107. &= 919 TF, 95 (1510 e Fa—

AT ZrrE

(B) Zefam

(C) =ifteE

(D) otz FaakE

108. SIwEfes IO Wasi 20237 @F I
Fo wffane ifee 279

(A) Ty 25

(B) wiifa 26

) eI 27

(D) wieifa 28

109. 1907~ I 24731 ©I8 7= 7. 1918
fasraiEg ay SI8H 4T (X AN (5 9 O T

(A) =T 5
(B) Wb Rfe

L) GO WA oS fvirg Swe
iR e eisaes s ez (1917)

(D) T (B) 9 (C) To¥ Frarsia o

110. SrHTS feeq Nt 93 24m St =5
(A) FET3 A
(B) T&F A5

L(C) B it
(D) 4+ 5iE7 G




111. In Assam the Tea Research Centre 18 at

(A) Guwahati
(B) Jorhat
(C) Tejpur
(D) Digboi

112. In [ndia the first Paper Mill was set up 1n
Weslt Bengal at
(A) Srirampur
(B) B ansberia
(C) Kulu
(D) Budge Budge

113. Where did Chandragupta 1l establish his
second capital?

(A) Bidisha

(B) Malava

(C) Valabhi

(D) Ujjayini

114. In India production of dairy products are

comparatively low—
(A) Demand for fresh milk 18 high.

(B) Most people have low purchasing
power for dairy products.

(C) Most milch cattle are lean.
(D) All the reasons above

115. Which of the following is not @ capital
receipt in the government budget?
(A) Loan recoveries
(B) Provident fund deposits
(C) PSU disinvestment

(D) Grants

P7N i1 veed oIk @
(B) @ﬁcﬁmaﬁwmmmm
&9l |
(C) g e AefarE|
(D) AL e

115. mﬁmﬁﬁm@mmw e T
g3 1
(A) 3 FFFE
(B ey oA WA
(C) PSU disinvestment
(D) S
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117. Who is Known as the ‘P
(A) Jimutavahana
(B) Al-Berunj
(C) Ibn-Batutah
(D) Amir Khasry

arrot of Indig’ ?

play football and volleyball. B and C play cricket
and football, C and D play badminton and cricket,

D and A play volleyball and badminton. Who
plays badminton, cricket and volleyball?

(A) B
(B)
(C)
(D)

>l O 0 w

119. NEAT 3.0 is a platform associated with
which Union Ministry of India?

(A) Ministry of Education

(B) Ministry of Health and Famil y Welfare
(C) Ministry of Commerce and Industry
(D) Ministry of Corporate Affairs

120. Which of the following diseases is
autosomal ?

(A) Haemophilia
(B) Thalassemia
(C) Colourblindness
(D) All of the above

Fllﬁ. CISR FAefaair SEPRAD APy,

IO (MR Sz rififs 2

f{@d SR 17
(B) ety 19
M) TEeER 23
(D) =egrozw 24

117. Freifa s & Tz coree qp,
A#fafoe feree ¢
(A) Gh[&arEs
(B) wi&-Tazei
(C) T3l
P Sifiz 2wz

118. A, B,C, D b5R& A< | A, B Toam «

D, A S
JICAD (4T | @ Ao, fFas @ Shs e
(A) B
#B) C
©) D

(A) TR o gy
RGP n Je T BT S S - p—
&C) WG s wane wire Zeify

(D) R e wsfica® st

120. S5 @F G5 SbiTEy T
(A) ReifefEm
“B) i
(C) z<fieet
(D) Coitza i



| G T L
121, ‘={ndiathemain textile fibre crop 18 121. CEE e
(A) Jute 7.9] L
f_E‘! Cotton (B) iﬂpﬁ'ﬂ
) Flax ©) e
LS (D) fot
122. After the partition of Bengal, the two new 122. ARGIAA mmqﬁ:@ﬂwﬂ ﬁ@"ﬁt{ﬁﬁ@
pmﬂnues which came into existence were @
(A) East Bengal and Bengal o
(B) East Bengal and West Bengal (A) "f*{?ﬂ?ﬁ’ﬂ 42 4%
(C) East Bengal and Assam AB) ‘T‘f'@iﬁ aaR, AP 3R
(D) East Bengal and North Bengal (©) o et @38 AR
(D) % e @R T Cikgl

123. Whm_fnunded 1 National Society, aNational 123. & 930 GO AAE a3 Grerd ARAMIE
National School and National Gymnasium tﬂ‘qsﬁ' srem FmEE @ -.gr;%’m m‘iﬂ; zﬁ‘@b‘}
t : \ : : ’

Paper. a
and made the word ‘National’ popular in the later
half of the 19th century? AR AR W,WWWW
(A) Jyotindra Nath Tagore T W?
(B) Rajnarayan Bose (A) CEifeEI PIEE
(C) Nabagopal Mitra (B) G (A
(C) TN o

(D) Satyendra Nath Tagore

f the new department
k of India in 20227 et AiS FCAR?

[ntelligence

124. What is the name ©O
created by the Reserve Ban

(A) Department of Artificial
(B) Department of Fin-Tech
(C) Department of Data Science :

| L@»ﬁﬁ‘v{m@ e fofenE S

(D) Department of Digital Currency

125. A Public Service Commission Was 125. @ﬁt@ﬂﬁﬁﬁvﬁﬂmﬂ%ﬁﬁﬁ%mﬂ
established in India for the first time by 717 A O &
(A) The Indian Council Act, 1982 (A) T <o i3, 1982
(B) The Act of 1909 (B 1909-4% C\EG
(C) The Government of India Act, 1919 ©) 191 0G4 STES A ST
f India Act, 1935 D) 10354 — ﬂﬁ?{@ﬁ’?{

(D) The Government ©




126. A birgig ... e
S, r iﬁ,xlttmg'nawjre age hanc:-. - «
ala PTing balanee Let the reagq; - ?ngmgfmm 126. P gy e @i 99 e s,
: ‘ ne 5 : ; I
; ance h W If the it e al;z{ [.hif.”lp””g G 21 arfeE | w,ﬁﬁe&m%lmﬁ
‘:{ge thg feading of (he Spring baf{nce”}‘::i; the 451 (S99 B1w (o1re wATTED 2110 %3 W, Eﬁfﬂ'ﬁﬁ;z
=z 3 & 1 | B Q \
>» Which of the !(}Ilms,:ing e nes @l B
(A) W > w. (A) W,>W,
B) W, <w. W Y
©) W,=w, s
W= =
©) W=_L AD) Wi= 3
W,
127. Who was the first historical emperor of 127. SReAE7 44 dfezifFe 7510 @ aial
India? SA) =
(A) Dhanananda (B) oored G
(B) Chandragupta Mourya (C) ffEre
(C) Bimbisara e
D 5
(D) Bindusara o '

128. Name the Chalukya king who defeated 128. (I Bl 95 THIfaE siaifes a7

Harshavardana. _LA) 22 m
(A) Pulakeshin I oB) oo T
(B) Pulak:lshi; I P
es
ol ) s
129. Where is the Headquarter of the Asjan 129, ﬂﬁqmqﬂﬁﬁagqmﬁmww
Pacific Postal Union? (I Yafe 7
(A) Manila (A) Tifaa
(B) Bangkok (B) eaa
(C) Colombo L) T
(D} Mumbai (D) m
130. Whichcountry has builtan *Artificial Moon’ 130. &4 ™ *Artificial Moon® (fasr Sm)-a2
project? 2TE 50T SR ?
(A) USA X)) ufEs TG
(B) China (B) =
(C) Russia (C) =ffe
(D) Israel

(D) T&AGEE
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131. In the world, by cattle rearing, India rank ]

(A) first
(B) fifth
(C) fourth
(D) seventh

132. In the following “date” series, what will

come in the next?
18-07-2002, 25-07-2002, 02-08-2002, 1 1-08-2002
(A) 20-08-2002
(B) 21-08-2002
(C) 19-08-2002
(D) 22-08-2002

133 Let, "Pr="n mn-Dn-2)..... (n-r+1),

where n, r are integers such that 1sr<n. If

"P, =5040, find n.
(A) 10
(B) 12
(C) 20
(D) 16

134. Which sportsperson has been named as the
‘BBC Sports Personality World Sportstar of the
Year' for 20227

(A) Rojer Federer
(B) Neeraj Chopra
(C) Lionel Messi
(D) Serena Williams

135. Which Union Ministry is associated with
the pilot phase of The Open Network for Digital
Commerce?

(A) Ministry of Commerce and Industry
(B) Ministry of Home Affairs
(C) Ministry of Electronics and IT

(D) None of the above

ﬁ;‘"\ A —
18-07-2002,?5-0?-2002,02-08-2[}02,
(A) 20-08-2002
L(BY 21-08-2002
(C) 19-08-2002
(D) 22-08-2002

—
—_
1
'EIEI
3]
2
b2

133, "p.=n(n-1) (1-2)

1 < r<n, @4 n, r"i_‘-‘f’i’i‘-‘m | T “Py =5040 =4,
n-4 ¥« F9?

(A) 10

B) 12

(C) 20

(D) 16

134. @R FrorfEeE R At ARGRED
s (i o ww W T 2022 fEfve =

AR ?
(A) TR FCAR

_B) N7 Gl
(C) fFewa i
(D) GAE! RS

135. (Ol (T SaAmTS! HAiEb (ST W S
Fead T4 fofenm Fuma M wiee?

(A) Tl s ! TS ZemG
AB) Ry o 2 SR

(C) Ty o YAFFEA WIS WD
(D) Toiraa @I 78
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.(D> Parlhenugt‘.nesiﬁ

(A) Firuz-Tugthq
(B) Husain Shah

(C) Sikandar Shah
(D) Jain-ul-Abedin

138. Who is the head of the commission for the
sub-categorization of OBC’s?

(A) Justice G. Rohini

(B) Justice Uday Umesh Lalit
(C) Justice D Y Chandrachud
(D) Justice Sanjay Porel

139. For a floating body to be in stable

equilibrium, where should its centre of buoyancy
be located?

(A) At the centre of gravity

(B) Above the centre of gravity
(C) Below the centre of gravity
(D) It may anywhere

140. Two drops of liquid merge to form a sin gle
drop. In this process energy is

(A) absorbed.
(B) released.

(C) may be absorbed or released

depending upon the specific heat of
the liquid.

(D) neither absorbed nor released.

136. @mmfﬁ%ﬁm@ﬁmm%
WA TG G |
B) B G

(C) @ S
(D) iz

137. W}a@ﬁmﬂ'ﬁﬁﬁ?mﬁ‘iﬁqu
(A) Frare gaere
~(B) =7 #Z
(C) =3 =iz
(D) CE-Ca-Safie

138. SR M Co-cleara oy RIE P
Sif9® 2R O 24 &2

(A) e & @fza

4B) Fo#fs Twa Srpt mfEe
(C) fevrz=ife f& e2 varpe
(D) [517fS Ag7 coires

139. <3 P 3 5w i wegmy @, v
A9 (3% SafFe 3

(A) SR

B) ST @i

(C) SR M

(D) Qe B 30 «ina

140. Saea 1fb 0t 92fe 2 9 g sifiee
ze, 3 eiferary (feg

) (<1 % |
ﬁ; 1 =)

(C) S WA Oirsiz eofn sy w2
17 a1 fe 7w #iig |

(D) et w12 i@ iR 2o 1 |
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141. Whichneighboring statco [
4 February,

its 75th independence anniversary on
20237

(A) Bhutan

(B) Nepal

(C) Srilanka

(D) Bangladesh

142. Where is the Appellate Body of the World
Trade Organization (WTOAB) located?
(A) New York
(B) Geneva
(C) Paris
(D) Hague

143. Which Mughal emperor granted ‘Farman’
in 1717 to the British East India Company?

(A) Bahadur Shah II
(B) Shah Alam II
(C) Farrukhshiyar
(D) Muhammad Shah

144. Who was Mihirkula/Mihirgula?
(A) Sakaking
(B) Kushana king
(C) Huna king
(D) Pahlava king

145. Name the Chola king who adopted the title
of ‘Gangoikonda’.
(A) Rajendra Cholal
(B) Rajraj I
(C) Rajadhiraj Chola

142, G @G@Wﬁmﬁ’ﬂfﬁwﬁﬁﬁlw

wafEe ?

_AK) frezas
(B) (&tTel
(C) =iz
(D) &4

143. 1717 A @ 9= A0 & 255 2o
@l T 2l I 2

(A) o IR =iz
‘,(*B)/ﬁ@wﬁw

(C) wFdEE

(D) zHm 12

144, fiftage/fifaes & e
(A) *i< qieEl

B T A

(€) 24 @l
(D) #iza e

145. (I (OTF AME “SIERrae’ SieH! ogd S 2
(A) 2<% FiE® G
B) e Arere
(C) AT (5
(D) AEE G faor

(D) Rajendra Chola II

Please Turn Over




146, 1Wl'lit:h of the f lHow: i
~eount in the Ba[anfe D?Ing “Onsitutes a capjgy]
I Fnraign loans Ot Payments in India? : 146. ORI we e ST CFAS o
2. Forejen Direct | S
3. Remi;t'mc o Stmenty i F"Tﬁﬁ? 114.‘T5
4. Puru‘ntl‘ - I‘_rm" abroad 2. o Rifon
10 Investmen 3. Tawi ez e Gl
(A) 1,2 and 3 4. coAfbrziEe @fmms
(B) 1,2 and4 (A) 1,299 3
(C) 2,3 and 4 (B) 1,2494924
(D) 1,2, 3and 4 (C) 2,3 424

(D) 1,2,3499 4

147. Findthe leastnumber added to 8798 x 8792 147. @ =goa AW @5 901, 8798 x 8792

to make it a perfect square. | G 7ff5f z7, ©f =&
(A) 7 (A) 7 |
(B) 3 _B) 3 |
(©)6 ©) 6 |
(D) 9 D) 9

148. Which of the following accounts for the 148. SRUST ST 4iTS (o FaiHa T e
highest amount spent on Indian imports?

(A) Capital Goods

A) “Eef
(B) Gold and Silver (A) ifm 0
(C) Electronic Goods B S Foll
(D) Petroleum, oil and lubricants (C) TGl 2oy

(D) co@iferam, os @ wfaas

149. The Revolution related to increased 149. @ etz Ao eiare fow Tesms Gige—

production of eggs in India is— (A) F9iifE .
(A) Silver (B) G
(B) Golden 2
(C) White

(D) o9&

(D) Liquid



- dth . A-29
15“- Fmdl ﬁﬁﬂllmher? '“lhemarkuc[{'}r

) position,

(A) 6
(B) 19
(©) 11
(D) 1

151. In an examination, 55% of the candidates
failed 10 English, 65% failed in Mathematics
whereas 24 % failed in both. Find the percentage D%
candidates passed in the both subjects.

(A) 4%
(B) 4:5%
(C) 5%
(D) 5:5%

152, An iron ball is heated. The percentage
increase will be largest in

(A) density

(B) surface area

(C) diameter

(D) volume

153. In the service sector the most modern and

developed economic activity 1S
(A) Tertiary activity
(B) Quinary
(C) Quarternary
(D) Secondary

154. @ SR oy RIS PEee

154. Whi dian sportsperson has been |
A bassador’ by the | @ el SRRIPITGR At IS T ?

dppoi ‘Friendship Am
Si:&;:ﬁadnzs'll"l;ini:f? : A) . fe. g
(A) P.V. Sindhu LBy iEE (B1ee!
(B) Neeraj Chopra (C) fE 3
(D) Tl e

(C) Mary Kom
(D) Virat Kohli
Please Turn Over
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]: gi?l.iftwl'csln having no free entry by people in

(A) National Park

(B) Wildlife Sanctuary
(C) Reserved Forest
(D) Protected Forest

157. The first Satyagrahi selected by Mahatma
Gandhi to launch the Individual Satyagraha in
October 1940, was

(A) C. Rajagopalachari
(B) Vallabhbhai Patel
(C) Dr. Rajendra Prasad
)L B, Kripalani

158. Madan Lal Dhingra murdered Curzon
Wyllie in London in 1909 as a protest against

(A) the indiscriminate arrest of the
Ghadarites.

(B) the inhuman transportation and
hanging of Indian youth.

(C) the imprisonment of Lal, Bal and Pal.

(D) the Partition of Bengal.

159. Which among the following was set up

wide Part III of the States Re-organization Act,
19567

(A) Inter-state council
(B) Zonal counci

(C) Language commission
(D) Sarkaria commission
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I55. i1 2ffshm syreteisa= siet feets 200
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(A) <@ s

(B) ZTARDE (w7 GTSZIAET (AMepry
(ZTE17)

(C) a1 it crram (efge @1 «%)

(D) e71=s Srtefa s (SfFS 2 az)

156. SACS (A ITSHCS A1 A0 AHET F3—
(A) SR T
(BT SIS
(C) ALAMFe S
(D) Hafe SEe

157. 1940-99 W29 A 209 siEi= wzaﬁ':
AR} [ Tt Tejez »iwm ke,
EEGo!

v (A) B rEresisiEsifE
(B) IEEOIR #ANTHa
(C) ©. qite®m 21w
(D) (&. 4. Foimf

158. 31z 2ffSamm 1909 et s v e e
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(A) W3 Aqra ARSI e

(B) SR Y1 eitra fdiom ¢ 21
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(D) a5re%

159. 1956 tra qrey ojsfym Y3 Part 11-3
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(A) ST ifargw
4B) il oifan

(©) ©r7 i
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A, P Cc. D E, F are seated around @ 1
160- nn.:ﬂ able. A is seated opposite B, who 18
hex®€” "~ and D. A is between E and F, while E

een : _ ‘
b-‘-'mfﬂc eft of D- which of the following pairs 1s
i :-?nf. oach other?

(B) (D, E) s

E) -
.LC'I (C. %
\}pa" (C.D) P a
) ¢ 20
P 3 ©

_ Which of the following states in India 18
ted from reservationof Scheduled Castes in
institutions?

(B) Assam
©) Sikkim _
(D) Arunachal Pradesh

162. A, B, C. D are four friends. C is older than
Dbut youn gerthan B. A isolder butnot elder most.
amange A, B, C, D in ascending order of their age.

(A) D,C,A. B
®) C,D,A,B
) D,C,B,A
D) B,C,A,D

163. ‘Which state/union territory has launched a
‘I5-point Winter Action Plan’ to control air

pollution?
(A) Punjab
(B) New Delhi
(C) Rajasthan
(D) Haryana

164. Which is the reducing agen! in the thermit

reaction carried out for repairing of the railway
track?

(A) Iron oxide

(B) Aluminium metal

(C) Aluminium oxide
M TIron metal

. p eI U Csﬁ:[
160. ABCDE sl 2 #BIfce |
ﬁmﬂﬂﬁ1A AWEGF‘“‘]H
o 1@ D % Emiﬁﬁﬁﬁ@
s, AT p-44
sesfEra T ﬁrﬂwﬂaw?
(A) (E, F)
(B) (D, E)
(C) (€, E)
(D) (C.D)
161, FrERe Aol T Gl AT
. G AT s EiferE G ATHCIE
EICEANCER
(A) FEEH
_(B) S
(C) Ff
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( "0 ini
A) Coa] MINning areq

(B) Iron ore mins
1 Ore mining area

(C 5 oyf -
) Rt.:g.mn between coal and iron ore
mining areg

(D) Damodar Valley

167. Daily number of periods of teaching is 6 for
class VI to VIII and 7 for classes IX and X in a
school. If no teacher can be assigned more than 5

periods a day, what is the minimum number of
teachers needed?

(A) 5
(B) 6
(C) 7
(D) 8

168. The major source of revenue in 2022-23
was

(A) Corporate Tax

(B) Income Tax

(C) Goods and Services Tax
(D) Customs Duty

169. A muslim organization, which proposed
during the First World War that Muslims should
participate and try to reach an accord with the
Congress, was

(A) Muslim League

(B) Ahmadiya Movement
(C) Ehrar League

(D) Deoband Movement

165. faffe @ REE AETE € “1:

166. FCAEE! T2 ¢ TS IR S
(A) FHEfe A
(B) Gz S
(C) FueT € AR 7! S
(D) WGIWa S

——w

167. 37 2= FH VI (AeE VIII 2o 6 5 3z
F a2 X ¢ X 2Afee 7 51 503 7 41t 1 3% @me
frrare dfefa 5@ @M F5 71 gem =

FEow /A WH FOGH *FS TR ?
(A) 5

(B) 6 2}1
(C) 7
D) 8

168. 2022-23 = (TR GRS 24 S o
(A) TG T2
AB) TF 7
(C) #1 € @t 37
(D) dfEse=

169. 0 e ot 1 2t Reargra 7 42
2RI (T (A PAfeToTE eerm R e (e B6e
TR R N AT o Bt W B, o1 7
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(©) 2 nd 4 onb B) 416 A
D) 3 and 4 only "y 84264
(D) 843 €4
{11 opulation explosion took place in India 171. SHETS ERACTEE ot G D Z B Gk
(A) 1921 — 1941

B) 1901 — 1911
(C) 19T — 1991
(D) 1961 — 1981

quning
pite ) 1921 — 1941

D) 1961 — 1981

--x+}-',1t}.'-¢:}' 172, X eli= t-\-‘-."ifﬁx-cx'

{72 Suppose Xy =
:‘;;-‘;’;1‘5-‘5?’}’ D xS
— F X = \;
' i =) Tﬁfﬁ — v
E\aluale mﬁﬁ% x=)
)+{5#7)w2 ‘ g
{AJ 2{] 5% (1 £2)+ 0 sTy*2
(B) 2! (A) 20
(C) 22 B) 21
(D) 19 (C) 22
| (D) 19

173. D FENGIICE W TS AR

2fefe SCE?
(A)
@) (TN A
(® aferped i

(D) @8 ﬂ'T{tT&ﬁﬁ‘u

173. Name the King whose dthL\’ClﬂEl‘!lﬁ were

d
eseribed in Nanaghat inscription.

(A) Satakarni |
(B) Gautamiputra gatakarni

(C) Vashishta Putrd pulamayl
(D) Yajnasri Satakarni
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17§. The largest centre of Paper Industry in
India—

(A) Ballarpur
(B) Salkia
(C) Nepanagar
(D) Nagpur

176. The word Congress was borrowed from
(A) TheCongress (Parliament)ofthe USA.

(B) North American History, to connote
an assembly of people.

(C) The Congress of Trade Unions.

(D) The Congress of World Religions at
Chicago.

177. In acricket match, 5 batsmen A, B, C, D, E
scored an average of 35 runs. D scored 5 more than
E. E scored 20 fewer than A. B scored as many as
D and E combined. B and C scored 75 between
them. How many runs did C score?

(A) 45
(B) 55
© 20
M) 30

174, Srred 39s 599 1€ T
(A) 2t 8f6 TEAAIE TR oy

s(faraar |
(B) 24t 80 TWH TR FONR

AAfaraard |

(C) 2 8 i ace wER ey
eIt |

(D) 24 8T i =12 TR ATy

175. SIS J2& FlE T —
(A) =S
AB) A
(C) @A
(D) S191%

176. FEH *A0 oz T4 TR
(A) TS ISAMFT FXAF (A |
JB) e wReE ¥R (30, I
TR (RS |
(C) @ TIEA ITAH (AT |
(D) Mretesita fen! STEe (A0S |

177. @36 fH6 c¥etiy A, B, C, D, E 5108 35
4| D, E-9 (A6F 5T @ 303 @R E, AI (W@
20 ¥ AW B | D, E-3 ffsre g B F@!
B¢ C 99 75 99 a3 | C G T8 A I3 ?

(A) 45

B) 55

(C) 20

(D) 30
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post the Exhibition? 179. Wﬁamﬁw“ﬁﬁm‘Z{}Zf ﬁﬁlﬁ
(A) Ahmedabad e 2
(B) Chennal (A) SRR
(C) Mumbai B (AR
(C) TAZ
(D) A

(D) yaranasi

80. Which country has P
ﬁmgnition reform bill?
(A) England (A) TES
(B) SCDllaﬂd ({’B] eI
(€) ltaly ) 2o
(D) gwitzerland (D) TG
81, Which of the following are known as the faaf
Bumbay’l‘riumvirate'? 181. @ﬁﬁﬁ f\;mm sAfaHe?
(A) B. G. Tilak, G. K. Gokhale and & a- ‘1'21' A, T RET. (i AR
M. B. Namjoshi 1 e
K. T. Telang and )Ef} feraiai e, ¢ B, @@ R 9K
e O
) B. G. Tilak, G. G. © R @ coere, . weEEE G
G. H. Deshmukh . <%0 (T
ind f} WTWTE& (.?TTETF&. & B. o5 432
g, &, S

(D) Dadabhai Naoroji, K T. Telang
R.G. Bhandarker

ciﬁ'g;’:‘rho founded the Aligarh ANS
: &E ¢
(A) Nawab Salimullah ) i AR
(B) Liagat Al B) fﬁ'ﬂiﬂ‘-&wﬁ
(C) Khan Abdul Ghaffar Khan 4E) PICAEUY srped A
(D) Aia T wEr 2
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(B) Ferozshah Mehta, K. 1
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wly I-]e

Pudget 205, azja?mham *fexpeng
(A) [nter a[; ion
(B) Q. mentg

1dlES hﬂre of t o

(C) Cﬁnlrd”}r : X€s and dutjes
(D : SPOnsored schemes

1 -
84, Bakmg Soda is a mixture of
(A)
(B)
(C)

sodium carbonate and acetic acid
sodium carbonate and tartaric acid

sodium hydrogen carbonate and
tartaric acid

(D) sodium hydrogen carbonate and acetic
acid

185. Find the value of

[“‘;‘,‘J[‘-ﬂ[l-g ..... (2

e
O

(D) -03

186. The concept of five year plans in the Indian
Constitution is borrowed from

(A) Russia

(B) England

(C) The United States
(D) Germany

187. Bal Gangadhar Tilak introduced the
Ganapati Festival in 1893. He held the first Shivaji
festival in

(A) 1884
(B) 1885
(C) 1896
(D 1897
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(A) 7w ifaeei
By wE AGCH arey s ©
(C) @ #HreAEFsE bl oAl

(D) T

wifFe
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ifdfog ww F9 2
(A) 01 \
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2
|
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(D) -03

186. SIS MRUE TR sifFFswg a2
@e¥ TR FsfERe W o e
(A) =ifi
(B) XE0E
€) W gEay
(D) @i

187. 1893 (s Ate sivie foamss sjcieifs Beva @
FCRCETH | o el Rraifer Beor was arafi—

(A) 1884
«B) 1885
(C) 1896
(D) 1897




introduced the north-west frontier policy.

Sikhs?

other of X, who is the wife of Z.
pand Qisthe husband of P. How

190. Pis the m
y is the brother of
i P related t0 Z?

(A) Mother-in-law
(B) Mother
(C) Daughter-in-law

(D) Sister

rst

191, Name the Sultan of Delhi who fi

(A) Iltutmish

(B) Balban

(C) Raziya

(D) Alauddin Khalji

192. Who was the Tenth and Last Guru of the

(A) Guru Ram Das
(B) Guru Hargobind

BWP/23

5%838' T e e e A eI AR 22 | el

A e
(B) %Wmﬁa
‘;C] %“ﬁ@t o
(D) Sitaras

189. wcatforata #raefs 22

(A) SFEtatwEs o
(B) wifststasa 2miae
(C) ©iboa 7ga wwel
(D) #z< O

190, X-4 Wi P, Z-2 % X | P-a SR Y &3 P71 74
Q| P-3 A Z-3 F 7% ?
L) *efe

(B) ™

(C) A

(D) Sl

=
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191, fifers R FTO L e

(C) Guru Govind
(M) Guru Tegh Bahadur
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Question, O Marks, Wha i &
> Correcty answ L hmbe
(A) & - liSWered by the student?
(B) 4
(C) 45
(D) 40

19f1. Which of the f
Envisages the
In India?

| ollowing British Act
parliamentary system of government

(A) Charter Act of 1793
(B) Charter Act of 1813
(C) Charter Act of 1853
(D) Charter Act of 1833

195. Combine three resistors 5Q, 4.5Q and 3Q)
in such a way that the total resistance of this
combination is maximum with value

(A) 12.50Q
(B) 13.5Q
(C) 14.5Q
(D) 16.5Q

196. Who gave the title of Rani to the Naga
women leader Gaidinliu?

(A) Subhas Bose
(B) Jawaharlal Nehru
(C) Thakkar Bapa
(D) Mahatma Gandhi

197. Mg (s) + O, (g) > MgO (s) + energy, this
reaction may be classified as a/an
(A) Combination reaction
(B) Oxidation reaction
(C) Exothermic reaction
(D) All of the above

193. o empeica 75T 2P ST SR 2T oy,

Taraa e TS
(A) 42
(B) 41
(C) 45
(D) 40

194, T et R Sl Sresa ARy,
iz el Sorgifars afeE 2

(A) 1793 RFBIa oI Tizs
(B) 1813 -ANERCIED
OERSIED

195. fo @E5Q, 4.5Q GR 3Q ITTSA T
41 %51 (1 ORI W T

(A) 12.5Q

(B) 13.5Q

(C) 145Q

(D) 16.5Q

196. <5t A ¢To SAERFEeE @ @ T
2l AR ?

(A) ToR A

(B) GZIEE (5%

SC) 57 A=

(D) = i

197. Mg (s) + O, (g) - MgO (s) + *if&; TAAE
fafeif «alp
(A) Faes R
(B) @i fafema
(C) Slomia e
(D) ®oitza el
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rical cavity at its
pens to the

me i;ncreaSES
yolume remains unchanged.
increase Or decrease

me may 1
inguponthe nature of the metal.

C [ts

(B) Bhai parmanand
(C) Sachjndranath Sanyal

(D) Shohan Lal Pathak

200, WhichIndianstate has declared Malakhamb
as its state sport?

(A) Kerala

(B) Assam

(C) Madhya Pradesh

BWP/23

322; Gf5 4ieq T (TS G (AP oZR
0% | 7= Tae ar B

(A) 2% 2iiq |

(B) 9% =iz |

(C) @3 ey |

(D) 497 «5fon eo frds w1z 3% a1 34
(AT /it |

199. 1912-9 fermEwea @@ice staat sre w7
X ;
(A) ICRRA @

(B) ©f% 2™

(C) *IBiEwi FH

(D) GiEaE AlGS

200. SIECSS WWWWW

e S Gl R S AR
(A) (Tl
(B) WP
(C) W™
(D) qrerg«

(D) Rajasthan




